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; ThS Estimating & Cost Evaluation- 11
/ Full Marks: 80

Time- 3 Hrs
Answer any five Questions including Q No.1& 2

Figures in the right hand margin indicates marks

1. Answer All questions 2x10
« What do you mean by Technical sanction? !

Vp/ Define special repair with example. A )
F
Define EM.D._~ o

\#k” Calculate the standard weight of 12mm dia mild steel barBE3m lenBih.

.!_-!"-

e. Calculate the quantity of stone grit 20mm gauge @ 1.3cum % sqm and binder 3
@210kg % sqm for a road of length 2K.m and metalled width is 4m.

f~ Find the area of temporary land required for 2km length of a road having formation

width 8m, average height of bank is 1.5 m. Side slope is 2(horizontal): I (vertical).
pth of borrow pit is 20 cm.

Find the quantity of stone pitching alorlé. the side slopes of a portion of road from
the following data. The depth of bank at two ends being 3m and 4m. Side slope is

1;'!- :1. Thickness of stone pitching 15 cm, Length of road is 300m.

vh./'l')eﬁnc “Imprest Money™.
i. Whatis “R.l':T'RA“? Write d“'f,: th.E' date of establishment of RERA in Odisha.
j¢” Differentiate between isolated Eﬁbmbined footings
2. Answer Any Six QuéST N
\a” Write down diﬂ"grg;;f"ﬁ@hoa of execution of work in P.W.D.
Wb Calculate the qiinaﬁt‘j‘ of -}E)oinling works involved from Figure -2. v’ “?t—\'_
c. Calculate fhe quantityof 1* class brickwork in Figure -1.
ole” What do:you'mean by Tender? Write a notice inviting tender for any work.
\}( Write short fmlcs on Muster roll and Acquittance roll.
i_:. Estimate the Iquanli{)' of fundamental items involved for the construction of a tube

well having following data.

Dia of tube well =-1Dmm,‘ﬂ:plh = 40m . The length of strainer is 3m. The pipc is

projected 20 cm above G.L . One ordinary hand pump and four sockets III;C:’U)!J
v&~ What do you mean by building bye-law? Write down the objectives of it.

Estimate the cost of earthwork for a portion of road of | Km length from the 10
following data. The cost of earthwork is Rs.600/- per cum for banking and Rs. 750/-
per cum for cutting. Also draw the longitudinal scction and typical section.

6x5
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Formation width of n road is 10 metre and side slope is 2:1 10 banking >
cutting. Length of chain is 40m. _ 35
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Estimate the items involved for the n:onsiructicm DTE]. new slate highway of WBM 10

road from the following data. ‘K : L
Length of road=200 m Lk { ol

Metalled width= 6m
Thickness of grade 1 metal sn]mg=80mm’!‘*ﬂ ",;;

51.6 i

Wearing coat of grade —I1 metal =12cm loose and, compact-:d to8cm o T 4

Surface to be finished with 2 coats of; bltumerlﬁas given below. i

First finishing coat= 12mm chips m® 2nd bitumen @1 32kg per rr] mf ruad

surface. *»’fﬁﬁ‘f Tih 4
Second [inishing coat=6rnm ::111%5 0. Olt]m and bltumen @l 36kg  per.m m - of s mad g
surface. ™ w_,..,‘ -
Consumption of fuel @ 0. 45kg per kg nfbltumen Ry,

Calculate the quantity. of “Earthwork in Excavation” for the construction of a canal 10

fall from the drawing given in Figure-1.
Prepare a quantity Ghl]ﬂlﬂlc far the following items of works of a slab culvert given 10

in Figure-2.  { ; o S
(a)Earthwork in e:\cavatmn [3] o '
(b) Cement concreté works in foundation [2]

{c) 1™ class brick work in cement mortar [5]

Calculate the quantity of reinforcement for a R.C.C slab of size 4mx5mx12c.m 10
thick. 10mm dia rods are placed in short span@20c.m ¢/c with one side 45° crank
with end hooks. 10 mm dia rods are placed in long span @ 25¢.m c/c with one side

45° crank with end hooks. 4 nos [(mm dia bars along short span and 4 nos along

long span are provided as top bars . Provide clear cover = 25mm and side cover =40
mm,
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Full Marks: 80

a o o
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. transverse slope. *

- Define tender and contract.

S s Sem/Civilzo2iwy
cad i THS vEstim‘awt_ioﬁ &Cost Evaluation-II

. Answer any five Questions including Q No.1& 2
41 7 Figures in the right hand margin indicates marks
Answer All. questions -

What is a Culvert and wheﬁ Hume pipe Culvert is preferred?

Time- 3 Hrs

2x10

What is the total .lengthof' straight bar hooked at both ends having st1‘aié11t igngth L and

diaD? v
What indent and stock?

Classify different types of work?

Define Lead and Lift.

Calculate the additional length of bent up bar for 45* cranked bar?

Calculate the number of main bars required for a slab of 2. 1mX 4.8m provided with 16

mm dia bars @ 30cm C/C ?

Enlist different components of lmme_pjipé"“’éul_vetc..

What s final bill and running bill ? v

- Answer Any Six Questions |

6x5

Calculate the quantity of earthwork by prismodial method for200 mtr length for a portion of a
road in an uniform ground ,the heights of banks at the two ends being 1.00m and 1.60m. The
formatiqn width is 10 mtr and side slopes 2:1 (Horizonta I Vertical). Assume that there is no

Estimate the following item involved for the fall from fig 2.
1.Earth work in excavation '
Estimate the volume of concrete for the footing given in the figs?

Explain muster roll and measurement book.

Estimafé the cost of earthwork for a portion of a road from the following data.

Road width at the formation surface is 8 metre, Side slope 2:1 in banking and 1%:1 in éutting.'

Length of the chain is 30 metre. :

chainage |20 21|22 |23 To4 25 26 27 - |28

29

Ground 171,20 [ 7125 |70.90 | 71.25 | 70.80 | 70.45 70.20 | 70.35 | 69.10
level ' : -

69.4°

Formatio | 70.00 | Upward gradient 1in 200
n level : e :

Take the rate of éarthwork as Rs, 275,00 percum in ban_king'and Rs. 350.00 péf cumiin
cutting. Lo : . el



‘ The general specifications :

Estinoate the'quantitiiés of items of a tube well from figNo 4, | 5

 Estimate the following items of a fall from fig 2

i.Cement Pomtmg m 1 3 cement mortar
il. Bnck pntchmg ;

Estimate the followmg items of work of a'slab culvert from Flg Nol, -~ : 545

i. I class brickworkin 1:4 cemenl mortar

- ii. R.C.C Work. » :
" Prepare a detalled estimate of: the followmg items of a 5|phon aqueduct from the given flgure

6.

cement concrete in foundation shall be 1:3: 6 with brick ballast W, K
Brickwork shall be of cement mortar 1:4. :

i, Earthwork in excavation in foundation..

il. First class brickwork in cement mortar (1:4).

Estamate the following |tems mvolved for septic tank shown in Fig No 3. ; ‘ ’ 3434242

i Earth work in excavation » :
i I class brick work in 1:4 cement mortar L
il 12 mm thick inside plastering.

iv. " "R.B'work in partition wall..

. Estimate the items involved for constructlon of a WBM road from the following data: 10

Length of road =150 m.

Formation width =10m.

Metalled width =8 m.

Thickness of grade-| metal solving = 90mm.

Wearing coat of grade-Il metal =12 cm thick loose and 8cm thick compacted

- surface to be finished with 2 coats of bitumen as given below:

First finishing coat = 12 mm chips @ 0.020 m® and bitumen @ 1.24 kg per m®of road surface.
Second finishing coat = 6 mm chips @ 0.02m? and bitumen @ 1.24 kg per m? of road surface.
Consumption of fuel @ 0.45 kg per kg of bitumen.

Write short notes on:
(a) Regular Establlshment ‘
(b)Aquittance role s
_(c)Administrative Approval.
(d) Tender and contract

2% x4



L T .

' {
rexy "E:
-SSR, S
- R LA
~ ‘I ~ 1 :
S IVHIEIREE:
i 34 143
LR IERE:
NIE s
¥ 2; . Ve
RN NS
ERellld i :d
5 iR A 8
R TS
2 $ 3
E -
33 3
>
R &R -
Al
- L

Y

PLAN Of LAY FobsE

. ~ . i in o V308 o i d Yt 9 sl Yoo tinsy
v G — I‘ e aeten ek g (20 W'"""" ezl
Weme e wearng Coat 1 . ‘_"u)..._—-l‘ » P - v L
i 4 \ym-‘p‘n,'uhm n! N D8raL (] [,1—"“\,’,[ =4 [‘"M"r”" w fv' - ”
Nemeorrr ) € A Bent 1) i () “Fan N\,
el S0 = ":‘Jﬂl 11 N /'jtf"“h‘llnnhl.yymH;u w " T 1% g:/’
L ¥ -}y amscanm.
LTI SR AR 0=y B Ao fecrankreopengd i A (Pl
WemCC | « Demfvek g /\ o p AR Y A e tury Py T 4 v
' " LC116 W o N Gea ) in )
s [l S R, Sl b " a2 -—f——-—ﬂ w -0 2
i " ¢ LiGartioen _4’3 7.‘*?1 "
% IRTORPPRRTR LI - 0 M Hall Sactomdl Piaa d :

’

Nem

Sar K1 ek lleq'lih

w2 CGAL

P M Covar !
30+ 30 Hole »

PLAN OF SOAK PIT

Laptegenn
el i W2
i M
rr o Toa Vst 20 e MmO LA
LY . l 2 i 24 T'
) et " ' A4
tlie e a I} o “anyatig L
et R < | IeConanvin _‘\",; AbE
;‘ ] s = " 4 0 emiud iom § | l :
oo 8 X : al P - 4
BT ] 0 2 2l
— < M
oy g e ’ 57#3i :
VU 7 A g o .&i: £
i o 5415 Holo) 20 em Brek Pichrg P R
' [ 15415 Hol g | %
P 2ot i) s o4l f|pa
ol [roer ) . ?
1Om “a 3 ?a %
| — I’ | %
m_ty - 60 :
._—I“"': : o :
: : H v =1 & Sido Wall :
v Bt | Wiy Wall -
R ) : = é S £/ %
! i 3 Voo docinnas & :é_}’_. = = ir -
= ! v ' y ¥
\ | b
\ — !
[ 7
PO -
T T 7 ¥ ¥ [
sectonst e Hali Top Plan
Al Dimuntions in contimole
.
110
Fig 2
Cowt
SEPTIC TANK FOR 50 USERS
Flushing Cistem AR Dimonsions are in Centimotor except otherwise mentionad
100mm Dia C ). Pipa
’_l\/somm Dxa Anti-Syphonage Pipo 50mm Dia Veot Pipa SoakPit1 oo
45cm Dus Manhole Covet 7.5cm R C C Cover
30m=—= C100mm DuSW Tes 75 \”’"““C? GL \ {!5%6em RC.C. For Suppotat Poe. o,
Txk~xr e m
— |5'.Z\(l Walet Lovel 3
“')&vun (a &0 T 5
\S W P = :
it 10cm 1R B Standing Wil el N
~XC_ kon Foot Step *{ 40P~ =z
20m A 2/, =
0 ! H g
| S—ET) . i g
| SAOABPEIIDEAD RN g
25cmCC
L-SECTION OF SEPTIC TANK a
m
=
“n



G YR W DAl RO

MAMD PUMP

Ticopessidol  Column fnn-lina

QAL ARG

k=
N0GL, oj{f" Ti
WAL ML

LIRS
L

' . ‘ _'“0 ‘I‘_ !'W - EEE=EE T
F 25""“‘5'00 F.._.._,}‘_Ms o0 0 '

4 mrﬁ%&»ﬁwu
20 b HOER PRESSURE ’ :
. of gxr;“’f LONGIDAL St My W00 1
. TR
: o q sonow : oy
AR - :
MG >\ =~
WLLTR - SECTIONCD
A Haor[ i '

] | (o (e »
PR 0 ) R I AL |l N —
R s Dl g | J 7 00
S I MRS, |

v w
5 i R AL
50 |0 |l | e B
e e 03 *§1‘5°* L
e:uxo;smw( " i ] Lk g
4l N _fm ey - (Fig6)
ol e—l0—e |
wq  0PAAN 0 " l

SECTIONEF
N



